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SN B EHA(EH) - NRAMY - BYS p/E-T Hl D2
5,279,470 ,381,470 102,000
5,279,470 381,470 102,000
MES(UBBIHT/YHEY) 5,157,610 227,610 A70,000
HASSSCHANSS 5,157,610 227,610 A70,000
A= HESSHER 1,236,870 271, ~35,000
201 Y | 1,233,000 268, ~35,000
01 At2 2l H| 1,226,000 261, A35,000
TR =4T] 1,225,000 260, ~35,000
ORUVBAZUSOI2Y (HHZ) 0 35, ~35,000
M) HSSHIYUESR 257,000 267,000 ~10,000
201 Yyt Ay 257,000 267,000 ~10,000
01 AtR 22l 187,000 197,000 ~10,000
Ogersgy 187,000 197,000 ~10,000
OCHELINLIE = =22t
2= 170,000,0008 170,000 180, ~10,000
CHEEHONSEZAALSY 585,000 595, ~10,000
201 Y| 335,000 345 ~10,000
02 Z==29H| 303,000 313 10,000
A& ZHIS T 300,000 310 ~10,000
OZHEESHOINAIAERX 24
2= 300,000,000 300,000 310 ~10,000
loisggscme: 181,510 196, A 15,000
201 Y2 | 109,900 124,900 A 15,000
02 ZZ2YH| 37,900 52, A 15,000
A& ZHIS T 30,400 45,400 A 15,000
OYEAARXES  FH 25,000,008 25,000 40,000 A 15,000
S @A (Cheel) (JIEH/IIE) 121,860 153,860 A32,000
=&l 121,860 153,860 ~32,000
IR 121,860 153,860 ~32,000
202 01 H 64,425 96,425 ~32,000
01 2ot 64,425 96,425 ~32,000
EEESSTOT 2 64,425,000 64,425 96,425 A32,000




